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Kombinační automaty 
(logické obvody)



Zadání: f(0,1,2,3,4,6,7,8,9,11,15)
i A B C D f

0 0 0 0 0 1

1 0 0 0 1 1

2 0 0 1 0 1

3 0 0 1 1 1

4 0 1 0 0 1

5 0 1 0 1 0

6 0 1 1 0 1

7 0 1 1 1 1

8 1 0 0 0 1

9 1 0 0 1 1

10 1 0 1 0 0

11 1 0 1 1 1

12 1 1 0 0 0

13 1 1 0 1 0

14 1 1 1 0 0

15 1 1 1 1 1

𝟎 − ഥ𝒂ഥ𝒃ത𝒄ഥ𝒅
𝟏 − ഥ𝒂ഥ𝒃ത𝒄𝒅
𝟐 − ഥ𝒂ഥ𝒃𝒄ഥ𝒅
𝟒 − ഥ𝒂𝒃ത𝒄ഥ𝒅
𝟖 − 𝒂ഥ𝒃ത𝒄ഥ𝒅
𝟑 − ഥ𝒂ഥ𝒃𝒄𝒅
𝟔 − ഥ𝒂𝒃𝒄ഥ𝒅
𝟗 − 𝒂ഥ𝒃ത𝒄𝒅
𝟕 − ഥ𝒂𝒃𝒄𝒅
𝟏𝟏 − 𝒂ഥ𝒃cd
𝟏𝟓 − 𝒂𝒃𝒄𝒅

I.krok II.krok

𝟎 − 𝟏 ഥ𝒂ഥ𝒃ത𝒄𝒙
𝟎 − 𝟐 ഥ𝒂ഥ𝒃𝒙ഥ𝒅
𝟎 − 𝟒 ഥ𝒂𝒙ത𝒄ഥ𝒅
𝟎 − 𝟖 𝒙ഥ𝒃ത𝒄ഥ𝒅
𝟏 − 𝟑 ഥ𝒂ഥ𝒃𝒙𝒅
𝟏 − 𝟗 𝒙ഥ𝒃ത𝒄𝒅
𝟐 − 𝟑 ഥ𝒂ഥ𝒃𝒄𝒙
𝟐 − 𝟔 ഥ𝒂𝒙𝒄ഥ𝒅
𝟒 − 𝟔 ഥ𝒂𝐛𝐱ഥ𝒅
𝟖 − 𝟗 𝒂ഥ𝒃ത𝒄𝒙
𝟑 − 𝟕 ഥ𝒂𝒙𝒄𝒅
𝟑 − 𝟏𝟏 𝒙ഥ𝒃𝒄𝒅
𝟔 − 𝟕 ഥ𝒂𝒃𝒄𝒙
𝟗 − 𝟏𝟏 𝒂ഥ𝒃𝒙𝒅
𝟕 − 𝟏𝟓 𝒙𝒃𝒄𝒅
𝟏𝟏 − 𝟏𝟓 𝒂𝒙𝒄𝒅

III.krok

𝟎 − 𝟏 − 𝟐 − 𝟑 ഥ𝒂ഥ𝒃𝒙𝒙 𝑨
𝟎 − 𝟐 − 𝟏 − 𝟑 ഥ𝒂ഥ𝒃𝒙𝒙 𝑨
𝟎 − 𝟏 − 𝟖 − 𝟗 𝒙ഥ𝒃ത𝒄𝒙 𝑩
𝟎 − 𝟖 − 𝟏 − 𝟗 𝒙ഥ𝒃ത𝒄𝒙 𝑩
𝟎 − 𝟐 − 𝟒 − 𝟔 ഥ𝒂𝒙𝒙ഥ𝒅 𝑪
𝟎 − 𝟒 − 𝟐 − 𝟔 ഥ𝒂𝒙𝒙ഥ𝒅 𝑪
𝟏 − 𝟑 − 𝟗 − 𝟏𝟏 𝒙ഥ𝒃𝒙𝒅 𝐃
𝟏 − 𝟗 − 𝟑 − 𝟏𝟏 𝒙ഥ𝒃𝒙𝒅 𝐃
𝟐 − 𝟑 − 𝟔 − 𝟕 ഥ𝒂𝒙𝒄𝒙 𝑬
𝟐 − 𝟔 − 𝟑 − 𝟕 ഥ𝒂𝒙𝒄𝒙 𝑬
𝟑 − 𝟕 − 𝟏𝟏 − 𝟏𝟓 𝒙𝒙𝒄𝒅 𝑭
𝟑 − 𝟏𝟏 − 𝟕 − 𝟏𝟓 𝒙𝒙𝒄𝒅 𝑭



Zadání: f(0,1,2,3,4,6,7,8,9,11,15)

IV.krok

𝟎 − 𝟏 − 𝟐 − 𝟑 ഥ𝒂ഥ𝒃𝒙𝒙 𝑨
𝟎 − 𝟐 − 𝟏 − 𝟑 ഥ𝒂ഥ𝒃𝒙𝒙 𝑨
𝟎 − 𝟏 − 𝟖 − 𝟗 𝒙ഥ𝒃ത𝒄𝒙 𝑩
𝟎 − 𝟖 − 𝟏 − 𝟗 𝒙ഥ𝒃ത𝒄𝒙 𝑩
𝟎 − 𝟐 − 𝟒 − 𝟔 ഥ𝒂𝒙𝒙ഥ𝒅 𝑪
𝟎 − 𝟒 − 𝟐 − 𝟔 ഥ𝒂𝒙𝒙ഥ𝒅 𝑪
𝟏 − 𝟑 − 𝟗 − 𝟏𝟏 𝒙ഥ𝒃𝒙𝒅 𝐃
𝟏 − 𝟗 − 𝟑 − 𝟏𝟏 𝒙ഥ𝒃𝒙𝒅 𝐃
𝟐 − 𝟑 − 𝟔 − 𝟕 ഥ𝒂𝒙𝒄𝒙 𝑬
𝟐 − 𝟔 − 𝟑 − 𝟕 ഥ𝒂𝒙𝒄𝒙 𝑬
𝟑 − 𝟕 − 𝟏𝟏 − 𝟏𝟓 𝒙𝒙𝒄𝒅 𝑭
𝟑 − 𝟏𝟏 − 𝟕 − 𝟏𝟓 𝒙𝒙𝒄𝒅 𝑭



Zadání: f(0,1,2,3,4,6,7,8,9,11,15)

V.krok

𝒇 = 𝐵 + 𝐶 + 𝐹 = ഥ𝒃ത𝒄 + ഥ𝒂ഥ𝒅 + 𝒄𝒅



Příklady na procvičování:

4. f(2,3,5,6) 

5. f(0,4,5,6,7,8,10,11,12,14,15)

6. f(2,5,6,8,10,12,13,14)

4. [𝑓 = 𝑏 ҧ𝑐 + ത𝑎𝑏 + 𝑎ത𝑏𝑐]

5. [f = ҧ𝑐 ҧ𝑑 + ത𝑎𝑏 + 𝑎𝑐]

6. [𝑓 = 𝑎 ҧ𝑑 + 𝑐 ҧ𝑑 + 𝑏 ҧ𝑐𝑑]


